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81 Which of the following is not a token? 

a. Keyword 

b. Identifier 

c. Operator 

d. Procedure  

82 Which of the following is a keyword? 

a. character 

b. break  

c. object 

d. attribute 

83 Which of the following is not a legal identifier? 

a. _room 

b. $PayAmount 

c. 10thClass  

d. nullValue 

84 Which of the following is a default value of float data type? 

a. 0 

b. 0float 

c. 0f 

d. 0.0f  

85 Which of the following is a default value of boolean data type? 

a. true 

b. false  

c. null 

d. void 

86 Which of the following is an invalid integer? 

a. 2222 

b. 22222 

c. 222 22  

d. 222 

87 Which of the following is not a character literal? 

a. '\n' 

b. "n"  

c. 'n' 

d. All of these 

88 Which of the following punctuator is the statement terminator in Java? 

a. ;  

b. . 

c. , 

d. All of these 

89 Which of the following is not a primitive data type in Java? 

a. boolean 

b. short 

c. float 

d. class  

90 What is the size of a long data type in Java? 

a. 32 bits 

b. 64 bits  

c. 48 bits 

d. Long data type is not supported in Java. 

 

 



91 What is the size of a boolean data type in Java? 

a. 1 bit 

b. 16 bits 

c. 8 bits  

d. Boolean data type does not take any 

space in memory. 

92 Single line comments can be added using ........... 

a. // 

b. /* */ 

c. \ 

d. Both A and B  

93 Which of the following changes a variable declaration into a constant? 

a. const 

b. constant 

c. static 

d. final  

94 The ASCII codes of A-Z are represented by decimal range ........... 

a. 65-90  

b. 66-91 

c. 97-122 

d. 98-123 

95 Which of the following is a primitive data type? 

a. array 

b. interface 

c. class 

d. boolean  

96 Which language does the CPU understand? 

a. Machine language  

b. Assembly language 

c. High-level language 

d. English language 

97 Stand-alone Java applications ........... for execution. 

a. need Java-compatible web browser 

b. need an assembler 

c. do not need Java-compatible web 

browser  

d. need a linker 

98 What is the full form of JVM? 

a. Java Visual Monitor 

b. Java Video Monitor 

c. Java Virtual Monitor 

d. Java Virtual Machine  

99 The full form of JRE is ........... 

a. Java Runtime Editor 

b. Java Runtime Environment  

c. Java Runtime Expression 

d. Java Runtime Enabler 

100 Java uses ........... for execution.  

a. compilation and interpretation  

b. interpretation only 

c. compilation only 

d. None of these 



 


